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I. /

 8 × 1 = 8 

1. A B n ( A ) = 37,  n ( B ) = 26   

 n ( A   B ) = 51  n ( A   B )  

 (A) 12 

 (B) 63 

 (C) 14 

 (D) 25 

2. 
2

1
 

8

1
  

 (A) 16 

 (B) 
16

1
 

 (C) 
4

1

 

 (D) 4 

3.  

 (A) 

 (B)  

 (C) 

 (D)  
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4. f ( x ) =  61132 23  xxx  f ( – 1 )  

 (A) 0 

 (B) – 10 

 (C) – 18 

 (D) 18 

5.  ABC  = 90º,  BD  AC,  BD = 8 AD = 4 

CD  

 

 (A) 16 

 (B) 4  

 (C) 64 

 (D) 12  
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6.  
)90(cos

)90(sin








  

 (A) sec  

 (B) cot  

 (C) tan  

 (D) cosec  

7. ( 2, 3 )  ( 4, 7 ) 

 

 (A) ( – 3,  – 5 ) 

 (B) ( 1,  2 ) 

 (C) ( 3,  5 ) 

 (D) ( 6,  10 ) 

8. r 

 

 (A)  2r  

 (B) 2 2r  

 (C) 3 2r  

 (D) 4 2r  
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II.  6 × 1 = 6 

9. 2 4 

 

10. 

 

11. 

3600  

 

12. f ( x ) = 2x  + 5x + 6 ( x + 3 ) 

 

13.  

14. 
3

1
 

 

III. 15. A = { 1,  2,  3 } B = { 2,  3,  4,  5 }   

  U = { 1,  2,  3,  4,  5,  6,  7,  8 }  ( A   B ) l  = A l    B
l

 2 
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16. .....
9

2

3

2
2    2 

17. 32    2 

18.  2 

19. 5  2 

20. 1, 2, 3, 4, 5 4 

2000 

 2 
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21. 1 6 

7  2 

22.  2 

   
25

23


 

23. 

)1220()4575(   2 
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24.  2 

  )3()5723( 23  xxxx  

 

 ( x – 2 ) 

f ( x ) = 2063 23  xxx   

25.  ABC  DE || BC,  AD = 2 DB = 5 AE = 4 

AC  2 

 

26. 4·5 7 PQ 

P  2 

27.  ( 2, 4 )  ( 8, 12 )  2 

28. A B 

15

 2 



81-L 8 CCE RR  

  RR(B)-30015  

29.  ABC   

 2 

 (a) sin  (b) cos  

 (c) cosec  (d) sec  

 

30. 

  20 = 1  

 C   

 140  

D 80 90  

 60 B 60 

E 30 20  

 A   

    2 

IV. 31. 5
12

1
 11

15

1
 

25  3 

 

 3 12 6 96 9 
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32.  3 

CI 0-4 5-9 10-14 15-19 20-24 

f 1 2 5 4 3 

33. ( 2x + 3 ) ( 3x – 2 ) + 2 = 0  3 

 

 2x  + px + q = 0 

0254 2  qp   

34.  3 

35.  ABC AB = AC, PN  AC PM  AB 

BC P BPNCCPMB .. 

 3 

 

 

  ABC  DE || BC, 3DE = 2BC  ABC 81 

 ADE  36  
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36. ( 1 + cot A – cosec A ) ( 1 + tan A + sec A ) = 2  3 

 

 20 

30º 

60º  

V. 37. 062  xx   4 

38. 4 2 

9 

 4 

39. 

 4 

40. 

7 

61  30

100  10

 4 
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